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1 4055—ford 8 1 9 1
2 4059— TN g UCaR Ha 1 5 6 1—2
3 4059—alTd =TT 17 3 20 2-3
4 4202—3%9 e 22 3 25 3—5
5 4202—3%g e (H¥) 2 0 2 5
6 4202—3 TR F3reT 0 2 2 5
7 420241 A TRreT 18 1 19 5—6
8 4202—3dT HAY TG & 22 0 22 6—8
9 4202—3JdT AN TG Td (SH¥) 1 0 1 8
10 4202—ell Vg HeRfd 27 4 31 8—10
11 4202—T D1 TRret 2 0 2 10
12 4210—T=IfhcaT Ud wRey 7 0 7 10—11
13 4210—TIfdheaT Ud @R (3H9) 1 0 1 11
14 4210—3Tgdal 2 0 2 11
15 4216—3MMATRII Ha 9 2 11 11—12
16 4401—MY 2 0 2 12
17 4401—3T 2 0 2 12
18 4403—93[UTET 12 0 12 12—13
19 5053—ANTR® IgSI 5 0 5 13
20 5054—ISTelT q3&T e 13 5 18 14—15
21 5054—JTHIVT ASD 227 22 249 15—34
22 5054—9% gl 12 1 13 34—35
23 5055—91R g+ 2 2 4 35
24 4215—3THIOT U STATYfl 74 11 85 36—45
25 4215—9c ABrRAT 3 0 3 45
26 4215—GRT1 UISTel ATSTT 1 0 1 46
27 4702—ag Riamg AR 67 11 78 46—52
28 4711—d1¢ A= 29 3 32 52—54
29 4216—9+1 (JTATAT 9a+T) 4 0 4 54
30 4406—a (U, I 9 ASD) 12 1 13 55
31 4406—39 (IR—3MAIRT W ) 11 5 16 55—56
H AT 615 82 697




